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WEEK TEST IV 

GENERAL STUDIES WITH GENERAL ENGLISH 
 

1. Factors of production includes. 
i. Land ii. Labour iii. Capital iv. Entrepreneurship and organization. 
a. i, ii, iii b. ii, iii, iv c. i, ii, iv d. all the above   e. Answer not known 
cw;gj;jpf;fhd fhuzpfs; vtw;iw cs;slf;fpaJ? 
i. epyk;  ii. ciog;G iii. %yjdk; iv. njhopy; KidNthu; kw;Wk; epWtdk; 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
2. The Minimum Possible money should be spent in the collection of taxes is 

referred as ______. 
a. canon of equality  b. canon of convenience c. canon of certainty 
d. canon of economy e. Answer not known 
tup t#ypg;gjw;fhf Fiwe;jj; njhifNa nrytopf;fg;gl Ntz;Lk; vd;gJ 
_________ 
a. rkj;Jt tpjp  b. trjp tpjp   c. cWjpg;ghl;L tpjp  
d. rpf;fd tpjp   e. tpil njhpatpy;iy 

 
3. Which of the following is/are indirect taxes? 

i. Sales tax ii. Corporate tax iii. Customs duty  iv. Excise duty 
a. i, ii, iii b. ii, iii, iv c. i, iii, iv d. iii, iv e. Answer not known 
gpd;tUtdtw;Ws; kiwKf thpfs; vit? 
i. tpw;gid thp ii. epWtdthp  iii. Rq;f thp  iv. fyhy; thp 
a. i, ii, iii b. ii, iii, iv c. i, iii, iv d. iii, iv e. tpil njhpatpy;iy 

 

4. Excise duty except on alcohol and narcotics in India was levied by  
a. State government   b. Central government c. Both a & b  
d. Central Board of Direct Taxes e. Answer not known 
,e;jpahtpy; kJ kw;Wk; Nghijg;nghUl;fs; jtph;j;J fyhy;tupapid tpjpj;J 
nfhz;bUe;jJ __________ 
a. khepy muR   b. kj;jpa muR   c. (a) kw;Wk; (b) 
d. kj;jpa tUtha; thupak; e. tpil njhpatpy;iy 

 

5. Choose the correct statements about GST. 
i. It came into Force on 1st July, 2017 
ii. Motto: ONE TAX, ONE MARKET AND ONE NATION. 
iii. It is transparent tax. 
iv. It is divided into four slabs. 
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a. i, ii, iii b. ii, iii, iv c. i, ii, iv d. all the above  e. Answer not known 
GST gw;wp rhpahd $w;wpidj; Njh;T nra;f 
i. 1 [{iy 2017 - ,y; eilKiwf;F te;jJ 
ii. Fwpf;Nfhs;: xU thp> xU re;ij> xU Njrk; 
iii. ,J xU ntspg;gilahd thp 
iv. ,J ehd;F mLf;Ffshfg; gphpf;fg;gl;Ls;sJ 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv    
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
6. The government ability to raise taxes is called its ____. 

a. fiscal capacity  b. Budget capacity  c. Revenue capacity  
d. Monetary capacity e. Answer not known 
Xu; murpd; jpwDf;Nfw;g tupfis cau;j;JtJ mjd; ___ vd;wiof;fg;gLfpwJ. 
a. epjpj; jpwd;   b. tuT nryT jpwd;  c. tUtha; jpwd;  
d. gztpay; jpwd;  e. tpil njhpatpy;iy 

 
7. Match the following 

Country   Currency 
A. Germany   1. Pound sterling 
B. Japan   2. Riyal 
C. Malaysia   3. Yen 
D. Saudi Arabia  4. Ringgit 
E. UK    5. Euro 
 A B C D E 
a. 1 3 2 4 5 
b. 5 3 4 2 1 
c. 5 4 2 3 1 
d. 1 3 4 2 5 
e. Answer not known 
nghUj;Jf 
ehL    gzk; 
A. n[h;kdp   1. gTz;l; ];nlh;ypq; 
B. [g;ghd;   2. hpahy; 
C. kNyrpah   3. nad; 
D. nrsjp mNugpah  4. hpq;fpl; 
E. ,q;fpyhe;J   5. a+Nuh 
 A B C D E 
a. 1 3 2 4 5 
b. 5 3 4 2 1 
c. 5 4 2 3 1 
d. 1 3 4 2 5 
e. tpil njhpatpy;iy 

 
8. Which of the following Is/are correct? 

i. The Indian Rupee symbol was designed by Mr. Udayakumar. 
ii. It was approved by Government of India on 15-June, 2010. 
a. i, ii  b. i  c. ii  d. none e. Answer not known 
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gpd;tUk; $w;Wfspy; rupahdit vit? 
i. ,e;jpa &ghapd; FwpaPl;bid tbtikj;jtu; cjaFkhu;. 
ii. ,J [_d; 15> 2010 md;W ,e;jpa murhy; mq;fPfupf;fg;gl;lJ. 
a. i, ii  b. i  c. ii d. VJkpy;iy  e. tpil njhpatpy;iy 

 
9. Choose the correct statements. 

I. Inflation refers to the prices are rising, the value of money will fall. 
II. Deflation refers to the prices are falling, the value of money will 

decrease. 
a. I, II are correct  b. I only is correct  c. II only is correct  
d. I, II are incorrect  e. Answer not known 
rhpahd $w;wpidf; fz;lwpf 
I. gztPf;fk; vd;gJ tpiyfs; cah;e;J> gzj;jpd; kjpg;G tPo;r;rpailtijf; 

Fwpf;Fk; 
II. gzthl;lk; vd;gJ tpiyfs; Fiwe;J gzj;jpd; kjpg;G Fiwtijf; 

Fwpf;Fk; 
a. I, II rhp   b. I kl;Lk; rhp  c. II kl;Lk; rhp  
d. I, II jtW   e. tpil njhpatpy;iy 

 
10. The Government of India announced demonetization of all `500 and `1000 

bank notes against Black money on _____. 
a. 8 November, 2016 b. 7 November, 2016 c. 12 November, 2016 
d. 18 November, 2016 e. Answer not known 
,e;jpa murhq;fk; fUg;G gzj;jpw;F vjpuhf midj;J &.500 kw;Wk; & 1000 
Nehl;Lf;fis gzkjpg;gpog;G nra;j ehs; _____. 
a. 8 etk;gu;> 2016  b. 7 etk;gu;> 2016  c. 12 etk;gu;> 2016  
d. 18 etk;gu;> 2016  e. tpil njhpatpy;iy 

 
11. The planning commission was formed by a cabinet resolution in ____ 

a. March 1950 b. April 1950   c. March 1951  
d. April 1951  e. Answer not known 
_______ mikr;ruitj; jPh;khdj;jhy; jpl;lf;FO mikf;fg;gl;lJ 
a. khh;r;> 1950  b. Vg;uy; 1950   c. khh;r; 1951  
d. Vg;uy; 1951  e. tpil njhpatpy;iy 
 

12. Which of the following emphasized the development of public sector 
enterprises to meet Nehru‟s National Industrial policy? 
i. First Five year plan (1951-56) 
ii. Second Five year plan (1956 - 61) 
iii. Industrial Policy Resolution, 1948 
iv. Industrial Policy Resolution, 1956 
a. i, ii  b. ii, iv c. i, iii  d. ii  e. Answer not known 
gpd;tUtdtw;Ws; NeUtpd; Njrpa njhopy;kakhf;fy; nfhs;ifia G+u;j;jp nra;a 
nghJj;Jiw epWtdq;fspd; tsu;r;rpia typAWj;jpait? 
i. Kjy; Ie;jhz;Lj; jpl;lk; (1951-56) 
ii. ,uz;lhk; Ie;jhz;Lj; jpl;lk; (1956-61) 
iii. njhopy;Jiw nfhs;if jPh;khdk; – 1948 
iv. njhopy;Jiw nfhs;if jPh;khdk; – 1956 
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a. i, ii  b. ii, iv  c. i, iii  d. ii  e. tpil njhpatpy;iy 
13. Who is called as the “Father of Public Sector undertakings in India”? 

a. V.K.R. Varadaraja Rao b. P.C. Mahalanobis  c. V. Krishnamoorthy 
d. Krishna Menon  e. Answer not known 
“,e;jpahtpd; nghJj;Jiw epWtdq;fspd; je;ij” vd;W miof;fg;gLgtu;? 
a. V.K. tujuh[ uht;  b. P.C. nk`yNdhgp]; c. V. fpU~;z%u;j;jp  
d. fpU~;zNkdd;  e. tpil njhpatpy;iy 

 
14. Which of the following is classified the industries into three categories schedule 

A, B & C? 
a. Industrial policy 1948  b. Industrial policy 1956 
c. Industrial policy 1980  d. Industrial policy 1991 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j njhopy;Jiwf; nfhs;if %yk; epWtdq;fs; ml;ltiz 
A, B kw;Wk; C vd tifg;gLj;jg;gl;Ls;sd? 
a. njhopy; Jiw nfhs;if 1948 b. njhopy; Jiw nfhs;if 1956 
c. njhopy; Jiw nfhs;if 1980 d. njhopy; Jiw nfhs;if 1991 
e. tpil njhpatpy;iy 

 
15. Consider the following statements. 

Assertion (A): NITI Aayog is referred as the Think Tank of India. 
Reason (R): NITI Aayog integrates all the social sector initiatives of the centre, 
state and local bodies. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W(A):epjpMNahf; ,e;jpahtpd; “kjpAiuaff;FO” vd mwpag;gLfpwJ. 
fhuzk; (R): ,e;j mikg;G kj;jpa> khepy kw;Wk; cs;shl;rp mikg;Gfspd; 
r%fJiw Kaw;rpfis xUq;fpizg;gjpy; nghUj;jkhd jsj;ij 
cUthf;FfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
16. Which of the following is/are correctly matched regarding 2018-19 sectoral 

contribution to GDP in India?  
Sector   Contribution 
i. Agriculture  - 15.87% 
ii. Industry  - 29.73% 
iii. Service  - 54.40% 
a. i only b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
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2018-19 Mk; Mz;L ,e;jpa nkhj;j cs;ehl;L cw;gj;jpapy; Jiwthhpahd 
gq;fspg;gpd;gb gpd;tUtdtw;Ws; rupahfg; nghUe;jpait vit? 
 
Jiw    gq;fspg;G 
i. Ntshz;ik  - 15.87% 
ii. njhopy;Jiw - 29.73% 
iii. Nritj;Jiw - 54.40% 
a. i kl;Lk; b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 

 

17. The largest public sector employer in India is ____. 
a. Indian postal service   b. Indian Railways 
c. Indian Armed Forces  d. None of the above 
e. Answer not known 
,e;jpahtpy; mjpf mstpy; gzpahsu;fisf; nfhz;l nghJj;Jiw epWtdk;? 
a. ,e;jpa jghy; Jiw  b. ,e;jpa uapy;Nt 
c. ,e;jpa ghJfhg;Gg;gil  d. Nkw;$wpa VJkpy;iy 
e. tpil njhpatpy;iy 

 
18. As per 2017 data, which of the following is/are correct? 

i. Maharatna Industries – 8  ii. Navratna Industries – 19 
iii. Miniratna Industries - 74 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
gpd;tUtdtw;Ws;> 2017- Gs;sptptug;gb rupahdit vit? 
i. kfhuj;dh njhopy;fs; - 8  ii. etuj;dh njhopy;fs; - 19 
iii. kpdpuj;dh njhopy;fs; - 74 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 
19. The concept of national income was first introduced by 

a. J.M. Keynes  b. Samuelson   c. Simon Kuznets  
d. Fisher   e. Answer not known 
Njrpa tUtha; vDk; fUj;JUit Kjypy; mwpKfg;gLj;jpatu; _____. 
a. J.M. fPd;];   b. rhKNty;rd;  c. irkd; F~;nel;];  
d. gp~u;   e. tpil njhpatpy;iy 

 
20. Net National Product at factor cost is represented as  

a. GNP – depreciation allowance 
b. GNP + depreciation allowance 
c. NNP at Market Prices – Indirect taxes + Subsidies. 
d. NNP at Market Prices + Indirect taxes – Subsidies 
e. Answer not known 
fhuzp nrytpy; epfu Njrpa cw;gj;jp (NNP) vd;gJ  
a. GNP – Nja;khd fopT 
b. GNP + Nja;khd fopT 
c. re;ijtpiyapy; NNP – kiwKftup + khdpak; 
d. re;ijtpiyapy; NNP + kiwKftup – khdpak; 
e. tpil njhpatpy;iy 
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21. The major feature of rural unemployment is the existence of unemployment in 
the form of ___. 
 
a. Disguised unemployment  b. Seasonal unemployment 
c. Frictional unemployment d. Both a & b 
e. Answer not known 
fpuhkg;Gwq;fspy; epyTk; Ntiyapd;ik _____. 
a. kiwKf Ntiyapd;ik  b. gUtfhy Ntiyapd;ik 
c. gpwo;r;rp Ntiyapd;ik  d. a kw;Wk; b ,uz;Lk; 

 e. tpil njhpatpy;iy 
 
22. “Inflation is taxation without legislation” – who said this? 

a. J.M. Keynes  b. Robertson   c. Raghuram Rajan  
d. Milton Friedman  e. Answer not known 
“gztPf;fk; rl;lG+u;tkw;w tuptpjpg;G” vd;W $wpatu;. 
a. J.M. fPd;];   b. uhgu;l;rd;   c. uFuhk;uh[d;  
d. kpy;ld; gpnuLNkd;  e. tpil njhpatpy;iy 

 
23. Choose the correct statements. 

i. In India, currency notes are issued by the Reserve Bank of India. 
ii. RBI publishes information for three alternative measures of money 

supply. 
iii. The coins are issued by the Ministry of Finance, Government of India. 
a. i and ii  b. ii and iii   c. i and iii   
d. i, ii and iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL> 
i. ,e;jpahtpy; fhfpjg; gzj;ij ,e;jpa upru;t; tq;fp ntspapLfpwJ. 
ii. ,e;jpa upru;t; tq;fp gz mspg;gpy; %d;W tifapyhd mstPLfis 

ntspapLfpwJ 
iii. ,e;jpahtpy; ehzaq;fs; kj;jpa murpd; epjpj;Jiwapdhy; 

ntspaplg;gLfpd;wJ. 
a. i kw;Wk; ii  b. ii kw;Wk; iii   c. i kw;Wk; iii  
d. i, ii kw;Wk; iii e. tpil njhpatpy;iy 

 
24. Which of the following statements about alternative measures of money supply 

is/are correct? 
i. M1 = Currency, coins and demand deposits. 
ii. M2 = M1 + Time deposits of all commercial and cooperative banks. 
iii. M3 = M2 + Savings deposits with post office saving bank. 
iv. M4 = M3 + Total deposits with post offices. 
a. i and ii  b. iii and iv   c. i and iv   
d. all the above e. Answer not known 
gpd;tUk; $w;Wfspy; gzmspg;G mstPLfs; gw;wpa rupahd $w;Wfs; vit? 
i. M1 =  fhfpjg;gzk;> ehzaq;fs; kw;Wk; Nfl;G itg;Gfs;. 
ii. M3 = M1 + midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s 

fhy itg;Gfs;. 
iii. M3 = M2 + mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs;. 



 

7 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 

iv. M4 = M3 + mQ;ryfj;jpYs;s midj;J itg;Gfs;. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

25. The Quantity Theory of money was first propounded by 
a. Irving Fisher  b. Davanzatti  c. Amartiyasen  
d. Milton Friedman  e. Answer not known 
gzmsT Nfhl;ghl;bid Kjd;Kjypy; Kd;nkhope;jth;  
a. ,u;tpq; /gp~u;  b. lhtd;~l;b   c. mku;j;jpahnrd; 
  
d. kpy;ld; gpnuLNkd;  e. tpil njhpatpy;iy 

 
26. Which of the following inflation is not dangerous to the economy? 

a. Walking inflation  b. Creeping inflation c. Running inflation  
d. Galloping inflation  e. Answer not known 
gpd;tUtdtw;Ws; ve;j gztPf;fk; nghUshjhuj;jpw;F Mgj;jhdJ my;y? 
a. elf;Fk; gztPf;fk; b. jtOk; gztPf;fk;  c. XLk; gztPf;fk;  
d. jhTk; gztPf;fk;  e. tpil njhpatpy;iy 

 
27. The monetary measures to control inflation includes  

i. Higher CRR, SLR and Bank rate  
ii. Consumer credit control  
iii. Lower Repo rate  
iv. Higher Reverse Report Rate 
v. Sale of government securities in the open market.  
a. (i), (ii), (iv)   b. (i), (ii), (iii)   c. (ii), (iii), (v)  
d. (i), (ii), (iv), (v)  e. Answer not known 
gztPf;fj;ij fl;Lg;gLj;Jk; gztpay; topKiwfs; vit? 
i. nuhf;f ,Ug;G tpfpjk;> rl;lG+u;t ePu;ik tpfpjk; kw;Wk; tq;fp tpfpjj;ij 

cau;j;Jjy;. 
ii. Efu;Nthu; flidf; fl;Lg;gLj;jy;. 
iii. kPs;thq;fy; tpfpjj;ij Fiwj;jy; 
iv. jpUg;g kPs; thq;fy; tpfpjj;ij mjpfupj;jy; 
v. ntspr;re;ijapy; muR gj;jpuq;fis tpw;wy;. 
a. (i), (ii), (iv)   b. (i), (ii), (iii)   c. (ii), (iii), (v)  
d. (i), (ii), (iv), (v)  e. tpil njhpatpy;iy 

 
28. Consider the following statements: 

I. Monetary measures are adopted by the central bank of the country. 
II. Fiscal policy is now recognized as an important instrument to tackle an 

inflation situation 
a. I only correct   b. II only correct   c. Both are correct   
d. Both are incorrect  e. Answer not known 
gpd;tUk; $w;wpid Muha;f. 
I. gztpay; Kiwfs; ehl;bd; ika tq;fpapdhy; mky;gLj;jg;gLk; 

KiwahFk;. 
II. gztPf;f #o;epiyia fl;Lg;gLj;Jtjpy; epjpf; nfhs;if Kf;fpag; gq;F 

tfpf;fpwJ vd;gJ jw;nghOJ czug;gl;Ls;sJ. 
a. I rup    b. II rup   c. ,uz;Lk; rup  
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d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 
 
29. Which of the following is correctly matched regarding the phases of trade 

cycle? 
i. Boom - Movement of economy beyond full employment 
ii. Recession - Turning point from boom condition 
iii. Depression - The level of economic activities becomes extremely low 
a. i, ii, iii  b. ii, iii   c. i, ii    
d. i, iii   e. Answer not known 
gpd;tUtdtw;Ws; thzpgr; Row;rpapd; fl;lq;fs; Fwpj;J rupahfg; nghUe;jpait 
vit? 
i. G+upg;Gfl;lk;  - KONtiytha;g;G epiyiaj; jhz;Lk; nghUshjhuk;. 
ii. gpd;dpwf;fk; - G+upg;gpy; ntbg;G epiy Vw;gLk; 
iii. ke;jk; - nghUshjhu eltbf;iffs; ,ay;G epiyf;Ff; fPo; 

kpfj;jPtpukhf Fiwe;J tUk; 
a. i, ii, iii  b. ii, iii   c. i, ii    
d. i, iii   e. tpil njhpatpy;iy 

 
30. Which was the First Bank of India established under British Rule? 

a. Bank of Bengal   b. Bank of Bombay  c. Imperial Bank of India 
d. Bank of Hindustan e. Answer not known 
nts;isau; Ml;rpapd; fPo; ,e;jpahtpy; epWtg;gl;l Kjy; tq;fp vJ? 
a. tq;fhs tq;fp  b. Kk;ig tq;fp  c. ,e;jpa ,k;gPupay; tq;fp 
d. ,e;J];jhd; tq;fp  e. tpil njhpatpy;iy 

 
31. Choose the correct statements: 

i. Imperial Bank of India was established in 1921.  
ii. It was changed into State Bank of India in 1949. 
iii. Reserve Bank of India was established in 1935.  
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1921-,y; ,e;jpa ,k;gPupay; tq;fp epWtg;gl;lJ. 
ii. ,J 1949-,y; ,e;jpa ];Nll; tq;fpahf khw;wg;gl;lJ. 
iii. ,e;jpa upru;t; tq;fp 1935-,y; Vw;gLj;jg;gl;lJ. 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 
32. Which of the following statements about RBI is /are correct?  

i. It is the sole authority to issue currency notes 
ii. The objective of RBI is to maintain the currency and credit system of the 

currency  
iii. Banker to the government 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii  e. Answer not known 
RBI gw;wpa $w;Wfspy; rupahdit vit? 
i. fhfpjg; gzj;ij ntspapLtjpy; Kw;Wupik ngw;w epWtdk;. 
ii. ehl;bd; gzk; kw;Wk; fld; msTfis Nkyhz;ik nra;tNj RBI apd; 

Nehf;fkhFk;. 
iii. muRf;fhd tq;fp 
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a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii  e. tpil njhpatpy;iy 
 

33. Consider the following statements 
Assertion (A):  RBI acts as the Banker to the government  
Reason (R): It collects receipts of funds and makes payments on behalf of the 
government.  
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true but, (R) is false  
c. (A) is False but, (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): RBI, muRf;fhd tq;fpahfr; nray;gLfpwJ. 
fhuzk; (R): ,J murpw;fhd epjp tUthiag; ngw;Wf; nfhs;Sjy; kw;Wk; 
murpd; nrytpdq;fSf;Fg; gzk; toq;Fjiyr; nra;fpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
34. Match the following:  

A. FEMA Act      1. 1995 
B. Banking ombudsman Scheme    2. 2007 
C. Banking Regulation act     3. 1999 
D. Payment and settlement systems act   4. 1949  
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2  
e. Answer not known 
nghUj;Jf. 
A. FEMA rl;lk;     1. 1995 
B. tq;fp Fiwj;jPu;g;gha jpl;lk;   2. 2007 
C. tq;fp newpKiwr; rl;lk;   3. 1999 
D. nrYj;Jjy; kw;Wk; jPu;Tr; rl;lk;  4. 1949 
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2  

 e. tpil njhpatpy;iy 
 
35. Statutory Liquidity Ratio is the amount which a bank has to maintain in the 

Form of _________.  
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a. Cash   b. Gold    c. Approved securities  
d. All the above  e. Answer not known 
rl;lG+u;t ePu;ik tpfpjk; vd;gJ xU tq;fp _______ tbtj;jpy; Ntz;ba njhif 
MFk;. 
a. nuhf;fk;     b. jq;fk;   
c. mq;fPfhpf;fg;gl;l cWjpg; gj;jpuq;fs;  d. midj;Jk;  
e. tpil njhpatpy;iy 

 
36. Choose the correct statements about cash reserve ratio (CRR).  

i. If the CRR is high, the commercial bank's capacity to create credit Will 
be less.  

ii. The CRR is directly by proportional to commercial bank's capacity to 
create credit  

a. i, ii   b. i only     c. ii only   
d. none   e. Answer not known 
nuhf;f ,Ug;G tpfpjk; Fwpj;j rupahd $w;wpidj; Nju;e;njL. 
i. nuhf;f ,Ug;G tpfpjk; mjpfkhf ,Ue;jhy; tzpf tq;fpfspd; fld; 

cw;gj;jp Fiwthf ,Uf;Fk;. 
ii. nuhf;f ,Ug;G tpfpjk; tzpf tq;fpfspd; fld; cw;gj;jpf;F 

Neu;tpfpjj;jpy; ,Uf;Fk;. 
a. i, ii   b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
37. The main objective of the Regional Rural Banks is to provide credit particularly 

to ___ 
a. Small and marginal Farmers  b. Agricultural Labourers 
c. Artisans and small entrepreneurs d. All the above 
e. Answer not known 
tl;lhu Cuf tq;fpfs; ____ f;F fld; toq;Fjiy Kf;fpa Nehf;fkhff; 
nfhz;Ls;sd. 
a. rpW kw;Wk; FW tptrhapfs;    
b. tptrhaj; njhopyhsu;fs; 
c. iftpidQu;fs; kw;Wk; rpW njhopy; KidNthu;fs; 
d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 
 

38. Choose the correct statements about NABARD. 
i. Half of the share of capital of NABARD is contributed by RBI and other 

Half is contributed by Government of India. 
ii. It has the responsibility to inspect Primary Co-operative Societies. 
iii. It maintains a Research and Development Fund to promote research in 

agriculture and rural development. 
a. i and ii  b. i and iii   c. ii and iii   
d. i, ii and iii  e. Answer not known 
eghu;L gw;wp rupahd $w;wpidj; Nju;e;njL. 
i. eghu;L tq;fp %yjdj;jpd; ghjp gq;F ,e;jpa hprh;t; tq;fpahYk; kPjp ghjp 

gq;F ,e;jpa murhq;fj;jhYk; toq;fg;gLfpwJ. 
ii. ,J Jtf;fNtshz;ik $l;LwT rq;fq;fis Ma;T nra;fpwJ. 
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iii. Ntshz;ik kw;Wk; Cuf tsu;r;rpf;fhd Ma;Tfis Nkk;gLj;Jk; tpjkhf 
Ma;T kw;Wk; tsu;r;rp epjpapid guhkupf;fpwJ. 

a. i kw;Wk; ii  b. i kw;Wk; iii   c. ii kw;Wk; iii  
d. i, ii kw;Wk; iii e. tpil njhpatpy;iy 

39. Match the following 
A. IFCI   1. 1955  
B. ICICI   2. 1982 
C. IDBI   3. 1948 
D. RRB   4. 1975 
E. EXIM Bank  5. 1964 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
e. Answer not known 
nghUj;Jf. 
A. IFCI   1. 1955 
B. ICICI   2. 1982 
C. IDBI   3. 1948 
D. RRB   4. 1975 
E. EXIM tq;fp  5. 1964 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
e. tpil njhpatpy;iy 

 
40. The state financial corporations act was passed by the Government of India in 

________. 
a. 1950 b. 1951 c. 1952  d. 1954 e. Answer not known 
,e;jpa murhy; khepy njhopy; epjpf; fofr; rl;lk; ,aw;wg;gl;l Mz;L _______. 
a. 1950 b. 1951 c. 1952  d. 1954 e. tpil njhpatpy;iy 

 
41. Which of the following statements about SIDCO is/are correct? 

i. SIDCOs are entrusted with the responsibility of accelerating the 
industrialization of their states.  

ii. It get refinance facilities from Industrial Finance Corporation of India. 
a. i, ii  b. i only c. ii only d. none e. Answer not known 
gpd;tUk; $w;Wfspy; khepy njhopy; Nkk;ghl;L fofq;fs; gw;wp rupahdit 
vit? 
i. ,f;fofq;fs; khepyj;jpy; njhopy;kakhjiyj; J}z;Lfpd;w nghWg;igf; 

nfhz;Ls;sd. 
ii. ,J ,e;jpa njhopy; epjpf; fofj;jpypUe;J kWepjpapidg; ngWfpd;wJ. 
a. i, ii  b. i kl;Lk; c. ii kl;Lk; d. VJkpy;iy  e. tpil njhpatpy;iy 
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42. The book “Monetary History of the United States, 1867-1960” was written by 
____. 
a. Milton Friedman  b. J.M. Keynes c. Lawrence Robert Klein  
d. Carmen Reinhart  e. Answer not known 
mnkupf;f If;fpa muRfspd; gztpay; tuyhW> (1867 - 1960) vd;w Gj;jfj;ij 
vOjpatu; ____. 
a. kpy;ld; gpiul;Nkd; b. J.M. fPd;];  c. yhud;]; uhgu;l; fpnsa;d;  
d. fhu;nkd; nudhu;l;  e. tpil njhpatpy;iy 
 

43. The objectives of monetary policy include. 
i. Price stability 
ii. Full employment 
iii. Stability of Exchange Rates 
iv. Equilibrium in the Balance of Payments 
a. i and ii   b. i, ii and iv   c. ii, iii and iv 
d. all the above  e. Answer not known 
gztpay; nfhs;ifapd; Nehf;fq;fs; vit? 
i. tpiyia epiyg;gLj;Jjy; 
ii. KO Ntiytha;g;G 
iii. guptu;j;jid tpfpjj;jpy; epiyj;jd;ik. 
iv. nrYj;Jr; rkepiyapy; rkepiyia NgZjy;. 
a. i kw;Wk; ii   b. i, ii kw;Wk; iv  c. ii, iii kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
44. The Automated Teller Machine was first introduced in the year _______ 

a. 1961 b. 1967 c. 1969  d. 1972 e. Answer not known 
jhdpaq;fp gzk; toq;Fk; ,ae;jpuKiw mwpKfg;gLj;jg;gl;l Mz;L. 
a. 1961 b. 1967 c. 1969  d. 1972 e. tpil njhpatpy;iy 

 
45. The Banks are required to hold a certain proportion of their deposits in the 

form of cash with RBI. This is known as ____. 
a. Statutory Liquidity Ratio b. Cash Reserve Ratio  
c. Reserve Deposit Ratio  d. Cash Deposit Ratio 
e. Answer not known 
tq;fpfs; jq;fs; itg;Gj;njhifapy; xU Fwpg;gpl;l tpfpjj;ij RBI apy; 
nuhf;fkhf itj;jpUf;f Ntz;Lk;. ,J ________ vd;W miof;fg;gLfpwJ. 
a. rl;lG+u;t ePu;ik tpfpjk;  b. nuhf;f ifapUg;G tpfpjk; 
c. nuhf;f ,Ug;G itg;G tpfpjk; d. nuhf;f itg;G tpfpjk; 

 e. tpil njhpatpy;iy 
 

46. The objective of Foreign Direct Investment  
i. Sales expansion 
ii. Acquisition of Resources 
iii. Diversification 
iv. Minimization of competitive risk 
a. i and ii  b. iii and iv    c. i, ii and iv  
d. all the above e. Answer not known 
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ntspehl;L Neub %yjdj;jpd; Nehf;fq;fs; 
i. tpw;gidia tpupTgLj;Jjy; 
ii. ,aw;if tsq;fis ifafg;gLj;Jjy; 
iii. thzpf gutyhf;fk; 
iv. Nghl;b ,lu;fisf; Fiwj;jy;. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i, ii kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
47. The Bretton Woods conference (1944) proposed the establishment of ____. 

a. International Monetary Fund  b. World Bank 
c. International Trade Organization d. All the above 
e. Answer not known 
gpupl;ld; T+l;]; khehL (1944) cUthf;fg; gupe;Jiuj;j mikg;G 
a. gd;dhl;L gzepjpak;   b. cyf tq;fp 

c. gd;dhl;L thzpf epWtdk;  d. Nkw;$wpa midj;Jk; 
 e. tpil njhpatpy;iy 
 
48. Which of the following statements about IMF is/are incorrect? 

i. It created special Drawing Rights in 1967. 
ii. At present IMF has 189 member countries. 
iii. The Republic of Nauru joined in IMF in 2016. 
a. i only b. i and iii c. ii only  d. none e. Answer not known 
gpd;tUk; $w;Wfspy; IMF Fwpj;J jtwhdit vit? 
i. ,J 1967-,y; rpwg;G vLg;Gupikfs; jpl;lj;ij Vw;gLj;jpaJ. 
ii. jw;NghJ IMF 189 cWg;G ehLfis nfhz;Ls;sJ 
iii. 2016-,y; et;U FbauR IMF,y; cWg;gpduhdJ. 
a. i kl;Lk; b. i kw;Wk; ii c. ii kl;Lk; d. VJkpy;iy  e. tpil njhpatpy;iy 

 
49. The monetary reserve fund was established by ____. 

a. World Trade Organization  b. World Bank 
c. International Monetary Fund  d. SAARC 
e. Answer not known 
gd;dhl;L gz ,Ug;G _______ My; epWtg;gl;lJ. 
a. cyf tu;j;jf epWtdk; b. cyf tq;fp  c. gd;dhl;L gzepjpak; 
d. rhu;f; mikg;G  e. tpil njhpatpy;iy 

 
50. The Multi Fibre Agreement was introduced in ____. 

a. 1969 b. 1974 c. 1981  d. 1995 e. Answer not known 
ehu;nghUl;fSf;fhd gd;Kf xg;ge;jk; mwpKfg;gLj;jg;gl;l Mz;L ___. 
a. 1969 b. 1974 c. 1981  d. 1995 e. tpil njhpatpy;iy 

 
51. India became the “Sectoral dialogue partner” of ASEAN in ____ 

a. 1977 b. 1992 c. 1981  d. 1995 e. Answer not known 
,e;jpah Mrpahdpy; (ASEAN) Jiwthupahd tpthjq;fspy; gq;Nfw;Fk; 
mq;fj;Jt ehlhf nray;glj; Jtq;fpa Mz;L ____. 
a. 1977 b. 1992 c. 1981  d. 1995 e. tpil njhpatpy;iy 
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52. The agenda for BRICS summit 2018 includes  
i. Inclusive growth  ii. International Peace and Security 
iii. Global governance iv. Shared prosperity 
a. i and ii   b. iii and iv   c. i, ii and iv   
d. all the above   e. Answer not known 
gpd;tUtdtw;Ws; 2018Mk; Mz;bd; gphpf;]; cr;rpkhehL tpthj jiyg;Gfis 
Fwpg;gpLf 
i. cs;slf;fpa tsu;r;rp 
ii. cyf ehLfspd; mikjp kw;Wk; ghJfhg;G 
iii. cyfshtpa muR epu;thfk; 
iv. gfpuj;jf;f tsik 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i, ii, kw;Wk; iv  
d. midj;Jk;   e. tpil njhpatpy;iy 

 
53. Which is known as a sister institution along with International Monetary Fund? 

a. International Development Association 
b. World Trade Organization 
c. International Finance Corporation 
d. International Bank for Reconstruction and Development 
e. Answer not known 
gd;dhl;L gz epjpaj;jpd; rNfhju mikg;ghff; fUjg;gLtJ vJ? 
a. gd;dhl;L Nkk;ghl;L mikg;G 
b. cyf tu;j;jf mikg;G 
c. gd;dhl;L epjpf;fofk; 
d. kWfl;likg;G kw;Wk; Nkk;ghl;Lf;fhd gd;dhl;L tq;fp 
e. tpil njhpatpy;iy 

 
54. Which of the following is not the demerit of indirect taxes? 

a. Inconvenient   b. Uncertainity  c. Regressive   
d. No civic consciousness e. Answer not known 
gpd;tUtdtw;Ws; kiwKftupfspd; jPik my;yhjJ? 
a. trjp FiwT  b. cWjpapd;ik  c. Nja;tPjk;   
d. Fbik czu;tpd;ik e. tpil njhpatpy;iy 
 

55. The method of sinking fund was first introduced in 
a. England   b. United states of America c. India   
d. France  e. Answer not known 
%o;Fk; epjp Kjd;Kjyhf vq;F mwpKfg;gLj;jg;gl;lJ? 
a. ,q;fpyhe;J  b. mnkupf;fh    c. ,e;jpah   
d. gpuhd;];  e. tpil njhpatpy;iy 

 

56. Which of the following is called as “Lame duck budget”? 
a. Deficit budget  b. Zero base budget  c. Capital budget  
d. Vote-on-Account  e. Answer not known 
gpd;tUtdtw;Ws; nehz;b thj;J tuT nryTj;jpl;lk; vd;gJ 
a. gw;whf;Fiw gl;n[l;  b. G+[;a gl;n[l;  c. %yjd gl;n[l; 
d. epjpf;F thf;nfLg;G gl;n[l; e. tpil njhpatpy;iy 
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57. The Economic development is measured on the basis of  
i. Gross National product 
ii. GNP per capita 
iii. Welfare and social indicators. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
nghUshjhu Kd;Ndw;wk; ____ mbg;gilapy; mstplg;gLfpwJ. 
i. cs;ehl;bd; nkhj;j cw;gj;jp 
ii. jyhtPj nkhj;j ehl;L cw;gj;jp 
iii. kf;fs; eyd; kw;Wk; r%ff; FwpaPLfs;. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 

 
58. Match the following 

A. Gandhian plan  1. 1944 
B. Peoples‟ plan  2. 1950 
C. Bombay plan  3. 1940 
D. Sarvodaya plan  4. 1945 
 A B C D 
a.  1 2 4 3 
b. 1 4 3 2 
c. 1 3 4 2 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf. 
A. fhe;jpaj;jpl;lk;  1. 1944 
B. kf;fs;jpl;lk;  2. 1950 
C. ghk;Ng jpl;lk;  3. 1940 
D. ru;Nthjah jpl;lk;  4. 1945 
 A B C D 
a.  1 2 4 3 
b. 1 4 3 2 
c. 1 3 4 2 
d. 1 2 4 3 

 e. tpil njhpatpy;iy 
 
59. Which of the following statements about NITI Aayog is/are correct? 

i. It was formed on January 1, 2015. 
ii. It is a policy think-tank of the Government of India. 
iii. It replaced the planning commission from 31 December, 2014. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
epjpmNahf; Fwpj;j rupahd $w;Wfs; vJ / vit? 
i. [dtup 1> 2015-,y; epWtg;gl;lJ. 
ii. ,J ,e;jpa murpd; nray;jpl;l „kjpAiuaff; FO‟ MFk;. 
iii. brk;gu; 31> 2014-y; jpl;lf;FOTf;F khw;whf epjp MNahf; 

cUthf;fg;gl;lJ 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 

 
60. Which of the following statements about NSSO is/are correct? 
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i. It is the largest organisation in India, conducting regular socio-economic 
surveys. 

ii. It was established in 1950. 
iii. It has three divisions. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
 
Njrpa khjpup $nwLj;jy; mYtyfk; gw;wp rupahd $w;Wfs; vit? 
i. ,J r%f-nghUshjhu Gs;sptptu tprhuizfis Nkw;nfhs;Sk; 

,e;jpahtpd; kpfg;ngupa mikg;G 
ii. 1950-y; epWtg;gl;lJ. 
iii. %d;W gpupTfs; nfhz;lJ. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 

 
61. CSO conducts surveys like ____ 

i. Annual survey of Industries (ASI) 
ii. Index of Industrial Production (IIP) 
iii. Consumer Price Index (CPI) 
iv. Index of service production (ISP) 
a. i, iii, iv  b. ii, iii, iv    c. i, ii, iii   
d. i, ii, iii, iv  e. Answer not known 
CSO ________ fzf;nfLg;Gfis elj;JfpwJ. 
i. Mz;L njhopw;Jiw fzf;nfLg;G (ASI)  
ii. njhopy; cw;gj;jpf; FwpaPL (IIP)  
iii. Efh;Nthh; tpiyf; FwpaPL (CPI)  
iv. Nrit cw;gj;jpf; FwpaPL (ISP)   
a. i, iii, iv  b. ii, iii, iv    c. i, ii, iii   
d. i, ii, iii, iv  e. tpil njhpatpy;iy 

 

62. The tertiary sector is also called as ____ 
a. Quinary sector  b. Service sector  c. Agriculture sector  
d. Industrial sector  e. Answer not known 
%d;whk; JiwahdJ _________ vdTk; miof;fg;gLfpwJ 
a. Ie;jhk; Jiw   b. Nritj; Jiw   c. Ntshz;ikj; Jiw  
d. njhopy; Jiw   e. tpil njhpatpy;iy 

 

63. The ______ is an apt tool to measure the real development in an economy. 
a. PQLI b. HDIc. PCI  d. GII  e. Answer not known 
xU nghUshjhuj;jpd; cz;ikahd Kd;Ndw;wj;ij mstpl ______ rhpahd 
fUtpahFk;.  
a. PQLI b. HDI c. PCI  d. GII  e. tpil njhpatpy;iy 

 

64. HDI includes 
i. Adult literacy rate       ii. Standard of living 
iii. Life expectancy at birth     iv. Adjustment of GDP to purchasing power 
parity 
a. i, ii, iii b. ii, iii c. i, ii, iii, iv   d. iv e. Answer not known 
HDI MdJ vtw;iw cs;slf;fpaJ? 
i. taJ te;Njhh; vOj;jwpT tpfpjk;   ii. tho;f;ifj; juk;  
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iii. gpwg;gpd; NghJ tho;ehs; vjph;ghh;g;G  
iv. GDP I thq;Fk; rf;jp rkepiyf;F rhp nra;jy;  
a. i, ii, iii b. ii, iii c. i, ii, iii, iv  d. iv e. tpil njhpatpy;iy 

  
65. World Economic outlook is released by ____ 

a. IMF     b. World Bank  c. UNDP  
d. World Economic Forum  e. Answer not known 
cyfg; nghUshjhuf; fz;Nzhl;lj;ij ntspapLk; mikg;G _______.  
a. IMF     b. cyf tq;fp  c. UNDP  
d. cyfg; nghUshjhu kd;wk;  e. tpil njhpatpy;iy  

 
66. GATT was signed by ___ countries in 1947. 

a. 20  b. 23  c. 25  d. 47  e. Answer not known 
1947 ,y; fhl; xg;ge;jj;jpy; vj;jid ehLfs; ifnaOj;jpl;ld? 
a. 20  b. 23  c. 25  d. 47  e. tpil njhpatpy;iy 

 
67. The WTO agreement came into force from ___ 

a. April 1, 1994  b. January 1, 1995  c. April 1, 1995  
d. January 1, 1996  e. Answer not known 
WTO cld;gbf;if vg;NghJ eilKiwf;F te;jJ? 
a. 1994, Vg;uy; 1  b. 1995> [dtup 1  c. 1995> Vg;uy; 1  
d. 1996> [dtup 1  e. tpil njhpatpy;iy 

 
68. Which of the following method of measuring National Income is called as 

factor earning method? 
a. Product method  b. Income method  c. Expenditure method 
d. Both a and b  e. Answer not known   
gpd;tUtdtw;Ws; ve;j Kiwapyhd Njrpa tUkhd fzf;fPL fhuzpfspd; 
Cjpa Kiw vd;W miof;fg;gLfpd;wJ? 
a. cw;gj;jp Kiw  b. tUkhd Kiw  c. nryT Kiw  
d. a kw;Wk; b   e. tpil njhpatpy;iy 

 
69. The total rail route length in India is _________ km.  

a. 30, 000  b. 63, 000   c. 75, 000   
d. 1, 20, 000  e. Answer not known 
,e;jpahtpd; nkhj;j ,Ug;Gg;ghij ePsk; _______ fp.kP MFk;. 
a. 30, 000  b. 63, 000   c. 75, 000   
d. 1, 20, 000  e. tpil njhpatpy;iy 

 
70. In Tamil Nadu ___ recorded low number of emigrants 

a. Ramanathapuram b. Coimbatore  c. Chennai   
d. Vellore   e. Answer not known 
jkpo;ehl;by; _________ Fiwe;j mstpyhd ntspFbNaw;wg; gjpitf; 
nfhz;Ls;sJ. 
a. uhkehjGuk;   b. Nfhak;Gj;J}h;   c. nrd;id    
d. NtY}h;    e. tpil njhpatpy;iy 
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71. The thesis on „The Problem of the Rupee – Its origin and solution‟ was by 
_______ 
a. Dr. Amartya Sen  b. Dr. Raguram Rajan c. Dr. B.R. Ambedkar 
d. Dr. Hansa Mehta  e. Answer not known 
“&ghapd; rpf;fy; : %yKk; mjd; jPh;Tk;" vDk; Muha;r;rpf; fl;Liuia 
vOjpath; _________.  
a. Dr. mkh;j;jpah nrd; b. Dr. uFuhk; uh[d;  c. Dr. B.R. mk;Ngj;fh;  
d. Dr. `d;rh Nkj;jh  e. tpil njhpatpy;iy 

72. The Total Installed capacity of solar power in Tamil Nadu is ____ as on July 
31st, 2017 
a. 1500 MW  b. 1607 MW   c. 1697 MW  
d. 1790 MW  e. Answer not known 
[_iy 31;> 2017 d; gb jkpo;ehl;by; epWtg;gl;Ls;s nkhj;j #hpa rf;jp 
kpd;jpwdpd; msthdJ ___________.  
a. 1500 MW  b. 1607 MW   c. 1697 MW  
d. 1790 MW  e. tpil njhpatpy;iy 

 
73. The Female Literary in Tamilnadu was ____. 

a. 73.45% b. 64.55% c. 73.86% d. 65.81% e. Answer not known 
jkpo;ehl;by; ngz;fspd; vOj;jwpT tPjk; ___. 
a. 73.45% b. 64.55% c. 73.86% d. 65.81% e. tpil njhpatpy;iy 

 
74. Which state has the highest number of internet subscribes in India? 

a. Karnataka   b. Tamilnadu   c. Maharashtra   
d. Uttar Pradesh e. Answer not known 
,e;jpahtpy; ,izag; gad;ghl;by; mjpf gad;ghl;lhsh;fisf; nfhz;l khepyk;? 
a. fu;ehlfk;  b. jkpo;ehL   c. kfhuh~;buh   
d. cj;jug;gpuNjrk; e. tpil njhpatpy;iy 

 
75. The per capita Income of Tamilnadu is _____. 

a. $ 2200 b. $ 1670 c. $ 2175 d. $ 2151 e. Answer not known 
jkpo;ehl;bd; jdpegh; tUkhd kjpg;G ____. 
a. $ 2200 b. $ 1670 c. $ 2175 d. $ 2151 e. tpil njhpatpy;iy 

 
76. Let me but live my life from year to year, 

Whom does the word „me‟ refer to? 
a. Rudyard Kipling  b. James Falconer Kirkup c. Henry Van Dyke   
d. Robert frost   e. Answer not known 
 

77. The period of Henry Van Dyke is  
a. 1852 – 1933  b. 1770 – 1850  c. 1807 – 1882   
d. 1840 – 1928  e. Answer not known 

 
78. Which one of the following poem has not been written by the poet “Henry Van 

Dyke” 
a. A Home Song   b. A child in the garden 
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c. A Ballad of Santa Claus  d. Sea Fever 
e. Answer not known 
 

79. The following lines are taken from the poem  
„my heart will keep the courage of the quest, 
And hope the road‟s last turn will be the best. 
a. team work   b. life    c. a tragic story   
d. Indian seasons  e. Answer not known 

80. The summer of life she‟s ready to see in spring 
What does the word summer mean here? 
a. Happiness in woman‟s life b. Sorrow in women‟s life 
c. Difficulties in women‟s life  d. Challenging in women‟s life 
e. Answer not known 
 

81. She says “spring will came again, my dear 
Let me care for the ones who‟re near”. 
Select the quality of women from the given lines that the author wants to 
imbibe 
a. gloomy  b. pessimistic   c. ominous    
d. optimistic  e. Answer not known 
 

82. Match the following poetic lines from column A with the poets in column B 
and select the correct code. 
  Column A     Column B 
A. And happy heart, that pays its toil  1. Rakhi Nariani Shrike 
B. To hate our brothers, it is our selves  2. Henry Van Dyke 
C. Some water, coal and oil is all we ask  3. James Falconer Kirkup 
D. A symbol of power and strength  4. Rudyard Kipling 
 A B C D 
a.  2 3 4 1 
b. 2 3 1 4 
c. 3 1 4 2 
d. 4 1 2 3 
e. Answer not known 

 

83. She says, “spring will come again, my dear 
Let me care for the ones who‟re near”. 
Who is „she‟ in these lines? 
a. the woman of past  b. the woman of future  
c. the woman of today   d. the woman who is weak  
e. Answer not known 
  

84. Don‟t ever try to saw her pride, her self-respect. 
She knows how to thaw you, saw you-so beware! 
What is the tone of the author? 
a. calm   b. pleased   c. happy   
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d. angry   e. Answer not known 
 

85. She knows how to thaw you, saw you-so beware! 
What do the word thaw mean here? 
a. refuse   b. avoid   c. tackle   
d. ordinal   e. Answer not known 
 

86. Rudyard Kipling was educated in _____ but returned to India in _____  
a. Australia, 1856  b. England, 1882  c. Britain, 1860  
d. Scotland, 1885  e. Answer not known 

87. Who is the author of the poem “the secret of the machines”. 
a. Robert Frost   b. Dr. Gieve Patel  c. Rudyard Kipling  
d. Norman little ford e. Answer not known 
 

88. Some water, coal, and oil is all we ask, 
And a thousandth of an inch to give us play 
Who is „we‟ in these lines? 
a. life    b. thoughts   c. machines    
d. feelings  e. Answer not known 
 

89. Rudyard Kipling was the recipient of the 1907 ____ in literature 
a. International award b. Pulitzer prize  c. American literature 
d. Nobel prize  e. Answer not known 
 

90. The poem „the secret of the machines‟ speaks of the ____. 
a. human beings  b. permanence of art c. nature   
d. true love   e. Answer not known 
 

91. The poem “The ant and the cricket “ speaks of the  
a. Clever    b. Brave Cricket  c. Careless Cricket    
d. Happy Cricket   e. Answer not known 
 

92. Whose fables is the poem „The Ant and The Cricket‟  adapted from? 
a. Rudyared kipling  b. Paulo Coelho  c. Dan Brown                 
d. Aesop   e. Answer not known 
 

93. A silly young cricket, accustomed to sing through the warm, sunny months of 
gay summer and spring. The two qualities of the cricket described here are  
a. Foolish and a singer  b. Wise and a singer 
c. Foolish and a writer   d. intelligent and a speaker  
e. Answer not known 
 

94. At last by starvation and famine made bold, Who was suffering from starvation 
and famine? 
a. the Ant   b. the Cricket   c. the poet    
d. a man  e. Answer not known 
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95. In which poem do these lines occur? 
My heart was so light 
That I sing day and night 
For all nature looked gay” 
a. The Stick    b. Lessons in life 
c. The Ant and The Cricket  d. My Computer Needs a Break 
e. Answer not known 
 
 

96.  When the weather was warm ? “Quoth the Cricket, “ Not !‟! 
The word „Quoth „ means 
a. Wept   b. laughed   c. as ked        
d. Said  e. Answer not known 
  

97. Match the titles with the lines  
A. No men are -Foreign    1.  It plays with your mind 
B. A Poison Tree               2.  Not a crumb to be found 
C. The House on Elm street  3. In the morning glad I see, 
D. The ant and The Cricket  4. Of air that is everywhere our 
 A B C D 
a. 2 1 4 3 
b. 1 3 2 4 
c. 2 4 1 3 
d. 4 3 1 2 
e. Answer not known 
 

98. Which of the following line belongs to „Aesop‟s fables‟ 
a. Go then, “Says the ant, “and dance the winter away.” 
b. Or sleep, and Strength that can be own  
c. the house seems to be a bit brighter 
d. The darkest evening of the year. 
e. Answer not known 
 

99. Not crumb to be found on the snow – covered ground; 
Who was looking for the crumbs? 
a. The Ant   b. The Cricket  c. The grasshopper   
d. Aesop‟s fables.  e. Answer not known 
 

100.  What message does the poem „No men are foreign‟‟ conveys? 
a. equality and brother hood b. individuality of everyone 
c. everyone is different  d. none 
e. Answer not known 
 

101.  „James Falconer Kirkup‟ emphasizes the poem „No men are Foreign as  
a. All people are different    b. All people are equal 
c. different people live in different countries d. None 
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e. Answer not known 
 

102. It Sat alone 
What happened there is still today unknown. 
What does „It‟ refer to? 
a. Secrecy house   b. Mysterious house   c. Simple house  
d. luxurious house  e. Answer not known 
 

103.  And inside you can tell it has a ton of space, But at the same time it is bare to 
the bone‟ 
a. Nothing in the house  b. Everything in the house 
c. Somethings in the house  d. Rare things in the house  
e. Answer not known 

 
104. Match Column A with Column B 

Column A                                         Column B 
A. Dr. Gieve Patel                   1. American 
B. John Keats                              2. Scottish  
C. Nadia Bush                             3. Indian 
D. Robert Louis Balfour Stevenson 4. British  
     A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 1 2 4 3 
d. 3 4 1 2 
 

105. At night the house seems to be alive, Lights flicker on and off. 
What is „flicker‟? 
a. Hide    b. glimmer   c. dull   
d. asymmetrical  e. Answer not known 
 

106. Mention the theme observed in the poem „The house on Elm street‟ 
a. Unhappy life   b. Happy life   c. Mysterious life    
d. glorious life  e. Answer not known 
 

107. Which of the following line belongs to „Naida Bush‟ 
a. A comet in full flight     
b. Like impetuous youth 
c. His house is in the village though 
d. I drive past the house almost every day. 
e. Answer not known 
 

108. Who woods these are I think I know. The poet wanted to stop by the woods 
_____ 
a. to take rest   b. to reach his destination c. to avoid a stormy 
night 
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d. to enjoy the scene  e. Answer not known 
 

109. Which one of the following poems has not been written by the poet „Robert 
Frost‟? 
a. Road Not Taken  b. Mending wall 
c. Indian Seasons  d. Stopping by woods on a snowy evening 
e. Answer not known 
 

110. I was angry with my friend; 
I told my wrath, my wrath did end. 
What does the word „wrath‟ means? 
a. Anger  b. Calm   c. Happiness   
d. None of these e. Answer not known 
 

111. Which volume of William Blake‟s work does the poem come from? 
a. Songs of Experience b. Songs of Nature  c. Songs of Innocence 
d. Songs of Humanism e. Answer not known 
 

112. In which poem do the following occur? 
“And I sunned it with smiles, 
And with soft deceitful wiles.” 
a. Team Work  b. A Poison Tree  c. Special Hero  
d. On killing a Tree  e. Answer not known 
 

113. Which of the following works is not a poem? 
a. The Lamb   b. A Poison Tree  c. The Tiger   
d. The Lion   e. Answer not known 
 

114. „On killing a tree‟ is a poem written by  
a. Christina M. Kerschen  b. Norman Little Ford c. Gieve Patel  
d. Edgar Albert Guest e. Answer not known 
 

115. In which poem do the following lines occur? 
„Then the matter 
Of scorching and choking 
In sun and air, 
Brauning, hardening. 
a. On Killing a Tree  b. Sea Fever   c. A Thing of Beauty  
d. Team Work  e. Answer not known 
 

116. Dr. Gieve Patel published the poem „on killing a tree‟ in ______. 
a. 1965  b. 1963   c. 1966   
d. 1964   e. Answer not known 
 

117. Which one of the following poems has not been written by the poet „Dr. Gieve 
Patel‟  
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a. Evening  b. Forensic Medicine c. From Bombay Central  
d. Be the best  e. Answer not known 
  

118. To which nationality does noted poet Dr. Gieve Patel‟ belong? 
a. Australia   b. England    c. India    
d. China   e. Answer not known 
 

119. The following line are taken from the poem  
“Oh no, no,” said the little fly, kind sir, that cannot be, 
 
a. The Spider and the Fly  b. The Comet 
c. From a Railway Carriage d. The River 
e. Answer not known 
 

120. What helps the tree to grow as pet the poet Dr. Gieve Patel? 
a. Earth  b. Air    c. Gardener   
d. None  e. Answer not known 

 
121. How do the trees die by the thought of the poet Gieve Patel? 

a. when they don‟t get water b. when their roots are uprooted 
c. when they don‟t get manure d. when we cut it with knife or jab.  
e. Answer not known 

 
122. What does the poet symbolize a tree too in „on killing a tree‟? 

a. a good tradition  b. a deep – rooted evil c. a noble thing  
d. all of the above   e. Answer not known 
 

123. Choking is done in the absence of _____ in the poem „on killing a tree‟ 
a. sunlight  b. earth   c. water   
d. air   e. Answer not known 
 

124. Dr. Gieve Patel‟s poem “on killing a tree” is _____. 
a. an ironical poem  b. a mediative poem  c. a dramatic poem  
d. a ballad    e. Answer not known 
 

125. William Howitt wrote over ____ books. 
a. 280   b. 180    c. 190    
d. 175   e. Answer not known 
 

126. Let me but live my life from year to year, 
With forward face and unreluctant soul; 
Not hurrying to, nor turning from the goal; 
Not mourning for the things that disappear 
Identify the rhyme scheme of the given lines. 
a. a b b a  b. a a b b   c. a b a a   
d. a b a b  e. Answer not known 
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127. Find out the figure of speech of the following 

Still seeking what I sought when but a boy 
a. Metaphor  b. Anaphora   c. Simile   
d. Oxymoron  e. Answer not known 
 

128. Find out the figure of speech of the following 
To youth and age, and travels on with cheer. 
a. Metaphor  b. Anaphora   c. Simile   
d. Oxymoron  e. Answer not known 
 

129. She‟s a lioness; don‟t mess with her. 
Name the figure of speech implied. 
a. Metaphor   b. personification  c. Simile   
d. Oxymoron  e. Answer not known 
 

130. Find out the figure of speech of the following 
She‟s today‟s woman. Today‟s woman, dear. 
a. Metaphor   b. Repetition   c. Simile   
d. Anaphora   e. Answer not known 
 

131. We can see and hear and count and read and write! 
Name the figure of the speech implied. 
a. Anaphora  b. Simile   c. Imagery   
d. Metaphor  e. Answer not known 
 

132. Find out the figure of speech of the following 
Though our smoke may hide the heavens from your eyes 
a. Anaphora  b. Imagery   c. Metaphor   
d. Assonance  e. Answer not known 
 

133. Find out the figure of speech of the following 
Away he set off to a miserly ant, to see if, to 
a. Anaphora  b. Imagery   c. Metaphor      
d. personification e. Answer not known 
 

134. Find out the figure of speech of the following 
His cupboard was empty, and winter was come. 
a. Anaphora  b. Imagery   c. Metaphor      
d. Alliteration e. Answer not known 
  

135. Find out the figure of speech of the following 
Are fed by peaceful harvests, by war‟s long winter starv‟d. 
a. Anaphora  b. Imagery   c. Transferred Epithet  
d. Metaphor  e. Answer not known 
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136. Find out the figure of speech of the following 
They, too, aware of sun and air and water, 
a. Anaphora  b. Imagery   c. Internal rhyme    
d. Metaphor   e. Answer not known 
  

137. Lights flicker on and off. 
Name the figure of the speech implied. 
a. Assonance  b. Imagery   c. Internal rhyme    
d. Metaphor  e. Answer not known 
 

138. Identify the rhyme scheme of the given lines. 
It sat alone. 
What happened there is still today unknown. 
It is a very mysterious place, 
a. a a b b. a b b c. a b a  d. a a a  e. Answer not known 
 

139. Find out the figure of speech of the following 
To watch his woods fill up with snow 
a. Assonance  b. Imagery   c. Internal rhyme   
d. Hyperbole  e. Answer not known 
 

140. Find out the figure of speech of the following 
But I have promises to keep, And miles to go before I sleep 
a. Assonance  b. Imagery   c. Allegory    
d. Hyperbole  e. Answer not known 
 

141. “My little horse must think it queer” 
Name the figure of speech used. 
a. Personification  b. Imagery   c. Internal rhyme  
d. Assonance   e. Answer not known 
 

142. Find out the figure of speech of the following 
Night and morning with my tears 
a. Assonance   b. Imagery   c. Internal rhyme  
d. Metaphor   e. Answer not known 
 

143. Find out the figure of speech of the following 
“And into my garden stole” 
a. Assonance   b. Imagery   c. Internal rhyme  
 d. Metaphor   e. Answer not known 
 

144. The term leprous means 
a. covered with scales b. quick blow   c. very small   
d. leprosy patient    e. Answer not known 
 

145. Which one the following is not an imagery 
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a. Rising out of it, feeding  b. Upon its crust – absorbing 
c. Years of sunlight, air, water d. The bleeding bark will heal 
e. Answer not known 
 

146. Find out the figure of speech of the following 
Not a simple jack of the knife 
a. Assonance  b. Imagery   c. Internal rhyme   
d. Irony  e. Answer not known 
 
 

147. “There are pretty curtains drawn around; the sheets are fine and thin, 
And if you like to rest awhile, I‟ll snugly tuck you in!” 
What does „you‟ refer here? 
a. fly   b. poet c. spider d. ant  e. Answer not known 
 

148. Find out the figure of speech of the following 
It is the prettiest little parlour  
a. Repetition   b. Imagery    c. Consonance  
d. Anaphora   e. Answer not known 

 
149. Find out the figure of speech of the following 

Your robes are green and purple. 
a. Assonance  b. Imagery   c. Internal rhyme    
d. Metaphor  e. Answer not known 
 

150. Find out the figure of speech of the following 
“Your eyes are like the diamond bright, but mine are dull as lead!” 
a. Anaphora  b. Imagery   c. Metaphor      
d. Assonance  e. Answer not known 
 

151. In how much time will the simple interest on ₹ 3,000 at the rate of 8% per 

annum be the same as simple interest on ₹ 4,000 at 12% per annum for 4 years? 
a. 4  b.  8   c. 12   d. 6 
&.3>000 mrYf;F Mz;L 8% vd toq;fg;gLk; jdptl;bahdJ &.4>000 mrYf;F 
Mz;Lf;F 12% vd 4 Mz;LfSf;F toq;fg;gLk; jdptl;bf;F epfuhFk; fhyk; 
vd;d? 
a. 4  b.  8   c. 12   d. 6 

 
152. A principal becomes ` 10,050 at the rate of 10% in 5 years.  Find the principal. 

a. ` 3,350  b. ` 3,700  c. ` 6,700  d. ` 6,000 
Xu; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; ` 10,050Mf cau;e;jJ 
vdpy;> mriyf; fhz;f. 
a. ` 3,350  b. ` 3,700  c. ` 6,700  d. ` 6,000 

 
153. The Population of a village grows by r% every year. In 2 years the population 

increases from 10000 to 11025. Then r is  
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a. 5   b. 3.5   c. 2.5   d. 1.5 
xU fpuhkj;jpd; kf;fs; njhif Mz;nlhd;Wf;F r% tPjk; rPuhf $bf; nfhz;L 
nry;fpwJ. 2 Mz;Lfspy; kf;fs;njhif 10000 j;jpypUe;J 11025 Mf 
mjpfhpj;Js;sJ. vdpy; r vt;tsT? 
a. 5   b. 3.5   c. 2.5   d. 1.5 

 
154. Find the S.I on ₹ 12,000 from May 21st 2021 to August 2nd 2021 at 9 % per 

annum. 
a. 192  b.  264  c. 216   d. 168 
&.12>000f;F 9% Mz;L tl;b tPjk; 21 Nk 2021 ypUe;J 2 Mf];l; 2021 tiu 
fpilf;Fk; jdptl;bia fhz;f 
a. 192  b.  264  c. 216   d. 168 

 
155. The difference between the compound interest and simple interest on a certain 

principal is at 10% per year for 3 years is ₹ 31. Find the principal. 
a. Rs. 1000  b. Rs. 1500  c. Rs. 10000  d. Rs. 15000 
3 Mz;Lfspy;> Mz;Lf;F 10 rjtPjk; vd;w mbg;gilapy;> xU Fwpg;gpl;l 
njhiff;fhd jdp tl;b kw;Wk; Mz;L mstpy; Nrh;f;fg;gLk; $l;L tl;b 
Mfpatw;Wf;F ,ilNaahd tpj;jpahrk; &.31 vdpy;> me;jj; njhif vt;tsT? 
a. Rs. 1000  b. Rs. 1500  c. Rs. 10000  d. Rs. 15000 

 

156. A certain sum of money amounts to ₹ 6,500 in 3 years and ₹ 5,750 in 
1

1
2

 years 

respectively. Find the principal. 
a. Rs. 1000 b.  Rs. 10000  c. Rs. 5000  d. Rs. 1500 
xU Fwpg;gpl;lj; njhifahdJ 3 Mz;Lfspy; &.6>500 MfTk; 1½ Mz;Lfspy; 
&.5>750 MfTk; khWfpwJ> vdpy; mriy fhz;f 
a. Rs. 1000 b.  Rs. 10000  c. Rs. 5000  d. Rs. 1500 

 
157. If the rate of interest for the first year, second year and third year be 8%, 9%, 

and 10% respectively, what will be the amount after 3 years of Rs. 25000 if the 
rate of interest compounded annually?  
a. Rs. 33373  b. Rs. 33273  c. Rs. 32373  d. Rs. 33723 
Kjy; Mz;L> ,uz;lhk; Mz;L kw;Wk; %d;whk; Mz;Lf;fhd tl;b tpfpjk; 
KiwNa 8%, 9% kw;Wk; 10% Mf ,Ue;jhy;> Mz;Lf;nfhUKiw tl;b 
fzf;fplg;gLk; Kiwapy; 3 Mz;LfSf;Fg; gpwF &.25000f;F fpilf;Fk; njhif 
vt;tsT? 
a. Rs. 33373  b. Rs. 33273  c. Rs. 32373  d. Rs. 33723 

 

158. The time taken for ₹ 4400 to become ₹ 4851 at 10%, compounded half yearly is? 

a. 1 year  b. 1 
1

2
years  c. 2 years  d. 2 

1

2
years 

10% Mz;L tl;bapy;> miuahz;Lf;nfhUKiw tl;bf; fzf;fplg;gl;lhy;> ₹ 4400 

MdJ ₹ 4851 Mf vj;jid Mz;L MFk;? 

a. 1 year  b. 1 
1

2
years  c. 2 years  d. 2 

1

2
years 
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159. If the simple interest for an amount at 4% per annum for 3 years is Rs. 1,200.  
Find the compound interest at the same rate for the same amount for 2 years. 
a. Rs. 10,116  b. Rs. 10,720  c. Rs. 10,616  d. Rs. 816 
xU Fwpg;gpl;l njhiff;F 3 tUlj;jpy; 4% tl;b tPjj;jpy; &. 1>200 jdptl;b 
fpilf;fpwJ. mNj njhiff;F mNj tl;b tPjj;jpy; 2 tUlj;jpy; fpilf;Fk; 
$l;L tl;b ahJ? 
a. Rs. 10,116  b. Rs. 10,720  c. Rs. 10,616  d. Rs. 816 

 
160. A sum of Rs. 12,000 deposited at compound interest becomes double after 5 

years.  After 20 years, it will becomes 
a. Rs. 1,92,000 b. Rs. 1,20,000 c. Rs. 1,24,000 d. Rs. 60,000 
$l;L tl;bapy; KjyPL nra;ag;gl;l &. 12>000 njhifahdJ Ie;jhk; tUl 
Kbtpy; ,uz;L klq;fhf MfpwJ vdpy;> me;j njhif 20-k; tUl Kbtpy; 
vt;tsT MfpapUf;Fk;. 
a. &. 1,92,000  b. &. 1,20,000  c. &. 1,24,000  d. &. 60,000 

 
161. A sum of money becomes eight times of itself in 3 years at compound interest.  

The rate of interest per annum is: 
a. 100%  b. 80%  c. 20%  d. 10% 
$l;L tl;bf;F tplg;gLk; xU Fwpg;gpl;l njhif 3 Mz;Lfspy; mijg; Nghy 
vl;L klq;fhfpwJ vdpy; Mz;L tl;b tPjk; vt;tsT? 
a. 100%  b. 80%  c. 20%  d. 10% 

 
162. The difference between the simple interest and the compound interest at the 

rate of 12% per annum on Rs. 5,000 for 2 year will be 
a. Rs. 17.50  b. Rs. 36  c. Rs. 45   d. Rs. 72 
& 5>000f;F 2 Mz;Lfspy; 12% tl;b tpfpjj;jpy; jdptl;b kw;Wk; $l;L 
tl;bf;fhd tpj;jpahrk; 
a. &.17.50  b. &. 36  c. &. 45   d. &. 72 

 
163. Ilakkiya deposits Rs. 600 per month for 20 months in Recurring Deposit in Post 

Office. Calculate the maturity value of this account, if the interest at the rate of 
10% per annum. 
a. Rs. 12,000  b. Rs. 13,050  c. Rs. 1,050  d. Rs. 9,504 
,yf;fpah jghy; epiyaj;jpy; 20 khjq;fSf;;F khjk; &.600 njhlh; 
itg;Gj;njhifahf nrYj;jp te;jhh; vdpy;> tUlj;jpw;F 10% tl;b tPjj;jpy; 
mth; ngUk; Kjph;T njhifia fhz;f 
a. Rs. 12,000  b. Rs. 13,050  c. Rs. 1,050  d. Rs. 9,504 

 
164. A sum of money triples itself at 8% per annum over certain time. The number 

of years is equal to                                                                                                                                             
a. 24   b. 25   c. 20   d. 12 
vj;jid Mz;Lfs; Kbtpy; xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; %d;W 
klq;fhFk;? 
a. 24   b. 25   c. 20   d. 12 

 
165. Find the compound interest on ₹ 1000 at the rate of 10% per annum for 18 

months when interest is compounded half-yearly. 
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a. 157.625   b. 162.571   c. 152.654   d. 126.571  
miu Mz;Lf;F xU Kiw tl;b mrYld; Nrh;f;fg;gl;lhy; &.1000f;F Mz;L 
tl;b tPjk; 10% tPjg;gb> 18 khjq;fSf;Ff; $l;L tl;b fhzTk;. 
a. 157.625   b. 162.571   c. 152.654   d. 126.571  

 

 
 
 
 
 
 

 

 

 

 

 

 

 


